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RSFRALN BEOK-EE ARME BEA 04 BRERH

1. KPh22D3WIAZEARNCER, HHZZNZENa,b 95, INHDfE% (z—a)(z—b) =2 — Az +B IZfAALTT
X% ABIZOWT, AB=30 t 2 5MERZRD k. (S22, A3 30, Biko6sr, CH1047)

KXW A 2001FF
[a\b || 1 | 2 3 4 5 6

1 ||A=2,B=1| A=3,B=2| A=4,B= A=5, A=6,B=5 | A=7,B=6

2 [|[A=3,B=2| A=4,B=4| A=5,B=6| A=6, B= A=7,B=10 | A=8, B=12

3 |[A=4,B=3 =5,B=6 | A=6,B=9 | A=7,B=12 =8,B=15 | A=9, B=18

4 ||A=5,B=4| A=6,B=8 |A=7,B=12| A=8,B=16 | A=9,B=20 |A=10, B=24

5 ||[A=6,B=5|A=7,B=10/A=8,B=15| A=9,B=20 |A=10,B=25|A=11, B=30

6 A=7,B=6|A=8,B=12|A=9,B=18| A=10,B=24|A=11,B=30|A=12, B=36
AB=30 £%201%,  (a,b) = (1,5),(2,3),(3,2),(5,1) = %:%

X ERBOBR A=a+b, B=ab
ST a0 Z AUEZTHHELUAUCR2DT, (1,5) BEO24UF (5,1) HDIT 505,

YonllfigE (Fhufigis)
AB=30ThHo256, ZORNEEEZLD &,
All1|2|3|5[6|10[15]30
B30|15]10/6[5|3|2]|1

=
&

REDBIZED»S, A=a+b, B=ab

213 ) 6 |10 |15 30
3015 |10| 6 ) 312 |1
X | x| x[2,3[L5] x| x| X
3,2 95,1

| | W

© B - B R LU0 (http : //www.enjoymath.sakura.ne.jp/index.html )



http://www.enjoymath.sakura.ne.jp/index.html

2. KN22oDIVIAEFERICES, HHZZN i a,b &T5. ZNHDfE%E (2 —a)(z—b) =22 — Az +B IZfRALTT
X2 ABIZOWT, A>B L 2ERERD k. (SHk24r, Afh34r30%, B#k64r, C #1047 )

K*IWIAH200FFE

[a b || 1 | 2 3 4 5 6
1 [A=2,B=1|A=3,B=2| A=4,B=3| A=5,B=4 | A=6,B=5 | A=7,B=6
2 [|[A=3,B=2| A=4,B=4| A=5,B=6| A=6,B=8 | A=7,B=10 | A=8, B=12
3 [|[A=4,B=3| A=5,B=6| A=6,B=9 | A=7,B=12 | A=8,B=15 | A=9, B=18
4 ||[A=5,B=4| A=6,B=8 |A=7,B=12| A=8,B=16 | A=9,B=20 |A=10, B=24
5 |A=6,B=5|A=7,B=10|A=8,B=15| A=9,B=20 |A=10,B=25|A=11, B=30
6 ||[A=7,B=6|A=8,B=12|A=9,B=18|A=10, B=24|A=11,B=30| A=12, B=36

A>2B t% 5D
(a,b) = (1,1),(1,2),(1,3), (1,4), (1,5), (1,6),
(2,2),

)
)

(2,1),
(3,1)
(4,1),
(5,1)
(6,1)

)

) 9

)

12 1

36 3

K ERBOBR A=a+b, B=ab
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